@ 1/500 3 B (sanR | wers %2 =
T @ B| | 10 om#| Boohgyr | B i S S
R & 5 ! P 5
B.45
2.00 0.30 8.18 l4.21_[
0.30 8.18 4.21 1.30 2.20 1.55
3,00 2.00 7.55 ” [ S s méglgi % : = 2
l_’ m o9 +—o0 on * o K/ = P.S <
= sixanfiitic = |z
; =V = H’%ﬁél@g - # 3 ] =
i _ TRS| | zH REH | FERE |z | WY Sl e
2 o o © Of Bl @m |E| wm [E[l4]
=2 EHE HihE BHZ RiE e ==
() (%) 1=
LS 500 [ 428 a0 12..00 |00 | 12.00 |5.70 | .00
52.49
12.00 | 700 | 12.00 11.79 | 402
47.21 0.[p1 D— 1 D—2
@
ol
2.00 0.30 8.18  4.21
0.30 8.18 4.1 2.‘31 1.20 ’ 7.55 8. 45
_ ) : | [ G nawm &% S = 8
n e e L i ) E T
;; Ts‘iz-f - N < ¥ 2], E [0) L E”% ayEaedeg ol &
X ZlE|1=(Y smaz" > Do || 3=
= # @) o fﬁg EA Al E |re= oo 00 o) o .45 E
EiE1 EffTE?2 A=| z#E |7 : | I | I | ] |
= 14,28 | 4.00 | 4.00 | 4.00 16.00 8.00 119 | 4.4
2.00] 12,00 |00 ] 12,00 oo 279 |au Q- 2L D=2
; ' ' : : - - FEAZEFRTHL-HERHESH
41.21 0.p1 A Bl
@ O:szzme A sszEs

£ g ~ i3 s 2 &
sumzmncssonmims 28 @: wrrmizzns |A: @rrEazng




@ zarw Hxzms

A EarT esrES

—E L BREEBE

" 1/500 g B | WEmR | weErH g B z
T EBE| | 10 0p | #| By - o T %
8.45 2.00 0.30 8.18  4.21
0.30 8.18  4.21 2-|3‘ T 2|° | 7. 55 m " l I
” o » BREE—S g[ﬁi 8 = 8
IEE] T—UT = ‘ . = ——TLE PV " —Ps> — = &
é F.SE’r PV AL = @) @ é @) (@) wc o S ;
S . = 8] 1.58 HE
=l g o AEABle S TR = @Ez ! 35 3@3 3-4 g P
=l 3 & % [2]#H [a | B |34 . =
aaen|E | F|xmems|sanz| pu | H G
S 528 J 8.00 i 8.00 | 8.00 I 8.00 I 179 | e
52.49
3.oo| 800 | so0o | 8.00 { o0 | 7.7 J4.42
4.00 47.21 0.p1 1 D—2
@ 3 8. 45 2.00 0.30 8.18  4.21
630 BAg . a 2.|31 11. 2‘0 | 7.55 ﬂ ” |
for vy g _
[ S o R “f = S
s PSE =TT "' . (@] (@) © (@] @) we ag S §_
o : 7 1.58 g| e
] o b e b - & 5] [6] El gl =
e B # | B & (oan 2-1 2-2 2-3 2-4 2-5 2-6 o
=3 & g 2 |& B2 : =5
o O il g 28 | e l 8.00 | 8.00 | g0 | 17 14.42
52.49
3.00] 12.00 I4.oo| s.00 |40 11.79 I 4.42
4.00 47.21 0.1 51 D—2
@
8.18 4 BE 3.2
R
O:szzmg  |A\ wsznz B @ min( =1

62m




@ 1/500 g m | manR | e g B %
T m H Rq 10 0m ;& B § ] ] T A g
48.18 48.18
8.09 | 6. 05 12.00 1.95 4.00 12. 00 l 4,09 4.09 { 4,00 ‘ 8.00 [ 8. 00 | 8.00 { 8.00 { 8.09
iiiiial B % 1-4 15 -6 | #EEEs |viameEs
| e " & g1 3|3 ¢ B | 2
TRE RS Hiff = (BI) g = @ (@) (@) @) @ s
(kI) [ = e
"""""""" A
@ | @—2 2
@D—2 @—1 1 [ s
3P
3.61
FREAZMAETH 510 ARHES
48.18 48.18
4.09 4.00l 8.00 ] 8.00 l 12.00 12.09 4.09[4.00l 8.00 ] 8.00 { 8.00 { 8.00 { 8.09
[ ®©@ ® © % % 15 1-2 1-1 sz |vAnaze)
° 5 |E|g| =e= | = @2 2 P iy [i2 14 3
PIAE | wmm 1® 9 s o Q (6] (O] ©] — 8
@2
D—2 2 [ 4 &
3.61 3. 61
Al
O HrzBEs A msmaz

@ rF) HaxEs

A ErrmEseEs




